
1 50

9°

2

2°

3 8

NA [ /mol] =
8 × w [g/mol]

d [g/cm3]× (a [cm])3 =
8w

da3
[/mol]

9°

4 N

N =
35.5× 10 3 g

284 g/mol
× 0.100 mL

100 mL
× 6.02× 1023 /mol =

35.5× 6.02× 1017
284

S
S

N

S

N
= 165 cm2 × 284

35.5× 6.02× 1017 / = 2.19× 10 15 cm2/

3°

5 2× (0.116 + 0.167) nm = 0.566 nm
4 × 58.5 g/mol

6.02× 1023 /mol× (0.566× 10 7 cm)3
= 2.14 g/cm3

4°

6

的中！

Q =

µ
411 + 107 +

1

2
× 244 + 502 354

¶
kJ/mol = 788 kJ/mol

4°

7 (2) (3)

Na+ + Cl + aq = Na+aq + Cl aq + 784 kJ (4)

NaCl 784 kJ/mol

(1) (4)

NaCl + aq = Na+aq + Cl aq 4.00 kJ

5°

8

XePtF6

8°

9 a

b

c C2H4 52 kJ/mol

d

e 11 C +O2 = CO2 + 394 kJ

7°

10 a 15 p 1

P S

b

1

c 2 1 1

1 He 1 Li

d 1 1 1

1 1

10°
d

11 x kJ/mol y kJ/mol

C2H6 +
7

2
O2 = 2CO2 + 3H2O + x kJ

C3H8 + 5O2 = 3CO2 + 4H2O + y kJ

0 kJ

84 +
7

2
× 0 = 2× ( 394) + 3× ( 286) + x

106 + 5× 0 = 3× ( 394) + 4× ( 286) + y

x kJ/mol = 1562 kJ/mol, y kJ/mol = 2220 kJ/mol

22.4 L

22.4 L/mol
= 1.00 mol C2H6 C3H8 z mol (1.00 z) mol

1562 kJ/mol× z mol + 2220 kJ/mol× (1.00 z) mol = 1957 kJ

z mol = 0.400 mol

O2½
0.400 mol× 7

2
+ (1.00 0.400) mol× 5

¾
× 22.4 L/mol = 98.6 L

6°

的中！

的中！



12 (2) A 32× 3.81 = 122 C6H5COOH

A
305 mg

122 g/mol
= 2.50 mmol

A mmol

2A À A2

2.50 0 2.50

2.50 +1.25 1.25

2.50 (1 ) 1.25 2.50 1.25

0.192 K = 5.12 K · kg/mol× (2.50 1.25 ) mmol

40.0 g

= 0.800 = 80.0 %

8°

13 (4) B 2 OH

(5) (7) D E G

B 4 B 2- CH3CH(OH)CH2CH3
(3) B C4H10O 7 2-

8

7°

14 C C7H6O2 2- C4H10O C11H14O2

C11H14O2 +
27

2
O2 11CO2 + 7H2O

8°

15 a D E F C4H8 5 2-

6

b (6) D -2- E -2-

c

d 1- 2-

e F 1- 1,2- CH2BrC HBrCH2CH3
1

1°

16 G CH3CHO

b d

6°

17

C C11H14O2
(i) 10 (ii) 9 (iii) 8 2× 3 = 6 1× 3 = 3 1× 3 = 3
7 o m p-

(i) (ii) (iii) 1- 2-

6× 1 + 3× 1 + 3× 2 = 15
8°

18 (SBR) 1

5°

19 9°

20 104 p- 130 9 : 1

n

104× 0.9n+ 130× 0.1n = 106.6n
H SO3H 1 80

(106.6 + 80)n = 186.6n

80.0 g

106.6n g/mol
× 186.6n g/mol = 140 g

110 g

(110 80.0) g

(140 80.0) g
× 100 % = 50 %

106.6n = 1.00× 105
n = 938

x %

80.0 g

1.00× 105 g/mol =
110 g³

1.00× 105 + 938× x

100
× 80
´
g/mol

=
30.0 g

938× x

100
× 80 g/mol

x % = 50 %

5°

21 RSO3H

2RSO3H + Ca
2+À (RSO3)2Ca + 2H

+

CaCl2

0.10 mol/L× 60 mL× 1

2
× 1

10 mL
= 0.30 mol/L

2°

22 pH 11 pH

9°

23 6°

24 3°

的中！



4 24 YMS

YMS

NaCl

NaCl YMS KCl

9 c

A B

2-

YMS

75 %

東北医科薬科大学
化学

大的中！

入試日の朝、会場で配布していた
この問題から!!

直前講習会のプリントから!!


